Math 1314 Lesson 20: Area Between Two Curves

Suppose the graph below represents two different models for the growth of a company's revenues. The bottom function projects change in revenues if no additional advertising is purchased. The top function projects change in revenues if the company begins an aggressive new advertising campaign. The area in between the two curves will tell us how much additional revenue the company will realize if they undertake the new ad campaign:



Here's the basic method for finding this difference:



We can compute the area between the two curves. The general "formula" is

of (x) = D the xatis $\int_{a}^{b} (\text{top function} - \text{bottom function}) dx$ **Example 1**: Find the area of the region between the graph of $f(x) = 9 - x^2$ and from x = -3 to x = -33. Surby 11 10 | 8 nite Integral: $\int_{-3}^{3} \left[(q - x^2) - 0 \right] dx = \begin{bmatrix} -3 & (q - x^2) dx \\ -3 & g(x - 0) \end{bmatrix}$ **Definite Integral:** 0 -2 -1 0 1 ż 3 4 -2 -4 **GGB** Command: Integral Between [function, func ndJ

Inputs:



Example 2: Find the area between the functions $f(x) = \sqrt{1-x}$, g(x) = x-1, and h(x) = -x-1. The graphs of the three functions are shown below.



Definite Integral:

$$\int_{-3}^{0} \left[\sqrt{1-\chi} - (-\chi-i) \right] d\chi + \int_{0}^{1} \left[\sqrt{1-\chi} - (\chi-i) \right] d\chi$$

$$\int_{-3}^{0} \left(\sqrt{1-\chi} + \chi+i \right) d\chi + \int_{0}^{1} \left(\sqrt{1-\chi} - \chi+i \right) d\chi$$
GGB Command:

Inputs:

Answer: 4.3333 **Example 3**: Find the area between the functions Find the area between the function

$$g(x) = 0 \qquad [-1, 1]$$

$$f(x) = \frac{1}{2}x^{3} - 2x - 1 \text{ and the x axis on the interval } -1 \le x \le 1.$$

$$graph : t \quad first.$$

$$Set (t \times p) \quad (2 \quad integrals)$$

$$\int_{-1}^{-0.53} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} = \frac{1}{2} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx + \frac{1}{3} \left[(\frac{1}{2}x^{3} - 2x - 1) - 0 \right] dx +$$

Inpuis: Integral Between [f, g, -1, -.5392] + Integral Between [g, f, -.5392, j] Answer: [2.2481]

Example 4: Find the area between the functions $f(x) = x^2 - 3x$ and g(x) = 1.6x.



Points of Intersection:
$$(0, 0)$$
 $(4.6, 7.36)$

Definite Integral:

$$\int_{0}^{4.4} \left[1.6x - (x^{2} - 3x) \right] dx = \int_{0}^{4.4} (4.6x - x^{2}) dx$$

GGB Command:

•

Inputs:

Example 5: Find the area between the functions $f(x) = 3x^2 + 2$ and g(x) = x - 3.or + he interval L - 1, 23



Points of Intersection:

Definite Integral:
$$\int_{-1}^{2} \sqrt{3x^2 + 2} - (x - 3x) dx = \int_{-1}^{2} (3x^2 - x + 5) dx$$

GGB Command:

Inputs:



Amony CASA testers MC Aug was 59.01/06 2 89.4

Example 6: Find the area that is completely enclosed by $f(x) = 1.3x^3 + 2.8x^2 - 8.1x - 1.7$ and $g(x) = 2.4x^2 - 2x - 5.$

Required Graph:)



Set up:
$$\int (1.3x^3 + 2.8x^2 - 8.1x - 1.7) - (2.4x^2 - 2x - 5) dx + \int (2.4x^2 - 2x - 5) - \frac{1.4x^2}{3} + \frac{1.3x^3 + 2.8x^2 - 8.1x - 1.7}{3} dx$$

Points of Intersection: Intersect [object, object]

GGB Command:

18,4767

Inputs:

An

Example 7: Find the area of the region that is completely enclosed by the graphs of the functions $f(x) = 2x^3 - 8x^2 + 4x - 3$ and $g(x) = 3x^2 + 10x - 11$.



Points of Intersection:
$$Intersect [f_{5}g]$$

X=-1.044, 0.4501, 5.8939

GGB Command: Integral Between (2-tomes)

Inputs:

Example 8: Find the area of the region that is completely enclosed by the graphs of the functions $f(x) = 1.6xe^{-0.23x}$ and g(x) = 0.5x-3.

Graph:



Points of Intersection: Intersect [function, function, start, end] x=-1.6377, 9.4435

GGB Command:

Inputs:

Units

Example 9: Without any effort to curb population growth, a government estimates that its population will grow at the rate of $60e^{.02t}$ thousand people per year. However, they believe that an education program will alter the growth rate to $-t^2 + 60$ thousand people per year over the next 5 years. How many fewer people would there be in the country if the education program is implemented and is successful?



flp=60e^{ont} g(t)=-t²+60 (no need to find pts of intersection)

Definite Integral:

GGB Command:

Inputs:

Example 10: The management of a hotel chain expects its profits to grow at the rate of $1+t^{\frac{2}{3}}$ million dollars per year t years from now. If the renovate some of their existing hotels and acquire some new ones, their profits would grow at the rate of $t - 2\sqrt{t} + 4$ million dollars per year. Find the additional profits the company could expect over the next ten years if they proceed with their renovation and acquisition plans. **Graph:** $f(t) = 1 + t^{-13}$

UNITS



g(+)= + - 25+ ++

Definite Integral: $\int_{-\infty}^{\infty} \left[\left(t - 2\sqrt{t} + \tau \right) - \left(1 + t^{2/3} \right) \right] dt$

GGB Command: Integral Between

Inputs: Integral Between [9, 5, 0, 10]

Answer:

9.9568